That vector with spin 05/02/2005
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There is an additional parameter that the states have to determine: the spin.
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The radial part of the wave function 05/02/2005
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The effective radial potential:
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T 8m.a,  turns out to be independent of .

Or, visual reasoning:
E has to be bigger than V
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The complete wave function 05/02/2005
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Degeneracy of the Coulomb potential: For all potentials p32(r)
V(r) the energy does not depend on m (and with spin also
not on my). Butin the Coulomb potential it additionally
does not depend on /.

Radial probability distribution: ,021(r)
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